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T mwn: status of a n79 who has nYan on days 40/41/81

a

b

If: she has n%an on day 40 (from conception) — no possibility of 1on
But if: she has nban on day 41, must observe n7% 'n for M and F — as well as nT3 (no 9mv ")
i Question: why mention 131; she observes 14 days of nkmv (per F) and no 1mv ' (per nm)
ii ~ Answer: if she sees on day 34 (after nban) then on day #41, cannot count #41 as na’t (being after N1 »n’ which started on
day #34) and keep Dy a1 DY NIMY — but must view it as N1 (#34 may have been 1212 9mv *m); same with days #74/81
Snypwr 1. M formed on day 41 (n%an on days 41-80, only observe M and nm); F is formed on day #81 (M, F, nm)
i a7z 58ynw M argued that Ny parallels nrmv 2 (M:40, F:80)
1 prpom cannot infer formation from nkMY; counter-proof from story in Egyptian court (with convicted mnaw)
2 Srypw ’7. cannot bring proof from o0 — perhaps nnaw who had girls became pregnant 40 days before 121 nX
3 Snypw /1 then brought proof from Greek court (also convicted nmnaw)
(a) p2pom perhaps nap) R waited 40 more days before becoming pregnant ("m»yY v1a1var pr”)
o>pon: both are formed on day 41 (@n%an on day 41, observe n1% »n for both, plus n71)
i Challenge: p"n::pnaN (not identity, as it would already be clear that n'nan3 nadn)
ii  Answer: R"10 we follow >, as he has n'pva (“19n”) to support him - 9"np

Aggadic excurses on conception and birth (vv. 1-31)

-0 an oo

Status: of 129 while in utero (vv. 1-10); including advisability of wnwn during different stages of pregnancy
Conception:miraculous nature of, 'n as partner, advisable timing vis-a-vis non and/or n%av (vv. 11-27)

Gender: reaction to birth of boy, girl (vv. 28-30)

»7awT. explaining reason for N5y 127p, timing of nkmMY ' for M~=F, timing of n%n on 8 day

»n”. explaining reason for N NRMO

Nn1D1T /7. explaining why men seek women; positions during vnwn; men are easire to appease, beauty of nwr »p (v. 31)
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